Invention & Innovation E@Iﬁﬁméﬁ%

NITTAOMEGA

AUTOMATIC TOOL CHANGER

type S35-S (s )

REEYLTRES &
BEA a8

\ Easy to expand functions
Tool Stand option is also available

(P 5 7, ' ;
b :I‘.‘ ( | ‘ \; A N g
W R i
: \
>
B o
N |

|- =N

ORw MM

Robot side

: NITTAOMEGA type S35-Sl&.

- G0 & UTfe,

. s AY 0)
FT—MNFYvIV=ILFTVI+—TT,

% P.C.D. 50 DI G EZEMITIAE

NITTAOMEGA type S35-Sis a
\\J_“AE“ automatic tool changer
Tool side - C (*). .
* Can be directly mounted in 50 P.C.D.

— 1 (%) SEHARY 5 e b =
Hliq;?DIJSOOEI;gE%%ﬁE %i1t¥iﬂ = ’-r\ v I\§1ﬁjo)§§;ﬁt I:Eﬁk
No mounting plate required! (*) lighter! Contributes to reducing robot load
* Can be directly mounted in 50 P.C.D.

ERE XC30 ELEEL. THREER, R
HERRE-AT L Nbg&ﬁi’{fﬁﬁ%ﬁfﬁf*ﬂ
Improved payload and allowable load moment/torque
to the previous XC30

SEiEE YU EES) [ B D BB B R E A D 14 72 5] L
Equipped with a proximity sensor! Improved resistance to surround electromagnetic effects

ygy-=EL - oy SRETERIE D S EBEAREICHITS
17y e R—9ILX Uy NERELET

Provides total merits from the installation designing

yo — )
BB OES » :i‘ u

ttii{ New product

i

Previous product

Thickness comparison \ I - il XC30
when coupled

—VI9KINEAL

NITTA CORPORATION



B SEE AR External mating dimensions

ORwh75 79 Robot adaptor

7ITIBRYFHRIV b 4-M6

W—)L7FF9 Tool adaptor

7ITIRGRIL . 4-M6

4-M6 mounting bolt

0012
6 m6:58h:

P.C.D.50:0.05

071

B 4% specification

=l v IEVAIE
Backside parallel pin

Al O—8
Backside spigot joint

©6 M61608

o71

BAl/ v IE B
Backside parallel pin

4-M6 mounting bolt
/ 2x
| P.C.D.50+0.

BRIV b 4-M6

JvIEY

4-M6 mounting bolt™\ Parallel pmz

05

ORYNFI TS
Robot adaptor

@
F;c
296

A o ) _

’\U

o BE

o w2

P =0 @0 Ty #o

Tapered pin 0 E

DTN R

Cam =
sOF0: | ¢
Tool adaptor 2 1@ —

\/J7t/ BRIV b 4-M6

Parallel pin 4-M6 mounting bolt

W 79 IEAREII  Adaptor standard part number

W{ESEY2-I

Signal module

Mounting pattern
*Can be directly mounted

W—)Lfil Toolside

1S09409-1-50-4-M6 ST UG

in50 P.C.D. 1S09409-1-50-4-M6 counterbore hole
R—BN#L No. of ports Rc1/8: 6ports M5: 2ports

IF7HR—~ BRI Effective sectional area| 6.08mm?2/port 2.19mm?/port

Air ports CviE Cvvalue 0.33/port 0.12/port
ME Withstand pressure 0.85MPa

F+w I Chuck signal

HHIES Output signals

7UF v wThs  Unchuck signal

SEFEHESRIR  Face signal

{EFI2E Ambient temperature | 0~60°C JRiEHEE

RiR

Z & nofreezing

Environment

{8 FR/EE Ambient humidity

0~95%RH #EEBH|ETE no condensation

—VIKRIEL
NITTA CORPORATION

ESEYa—-IL
2078 FHinF

Signal module

20 signal pins and

solder terminal

oY —)LAIATCOT v IEY 1—I%.

TE TR

ESEI1-IL

2005 —2ILfF (2m)
Signal module

20 signal pins

with cable (2m)

ESEIa2—-IL

205 FHim TR

Signal module

20 signal pins and solder terminal spec
S3R00-8PS00 + SMRS20-000
S3T00-8PCO0 + SMTS20-000

ESEI2—-IL

2005 =TI (2m) fHag*
Signal module

20 signal pins with cable (2m) spec

S3R00-8PS00 + SMRS20-001

A S3T00-8PCO0 + SMTS20-001

DRyl ,’;‘F,F;‘Nsﬁﬁo(e\cln:r'n’g%? S3R00-8PSO1 EERRL Oty Robotside | W—JUf] Toolside | Oy Mg Robotside | Y—JUfl] Toolside
Robot side PNPHHE (24\/:.%)? S3R00-8PS00 Standard partnumber SMRS20-000 | SMTS20-000 | SMRS20-001 SMTS20-001
PNP spec (24 V common . HMIFFHAR Solder terminal T—TIbAF2m) 1 With cable(2m)
N - P ity older terminal spec =TI (2m) A% With cable(2m) spec
YVl Tool side S3T00-8PC0O0 th#R  Specification 3A:207 3A:20 signal pins 3A:207 3A:20signal pins
W 79 79tk Adaptor specification EE  Weight 0.04kg 0.04kg 0.4kg 0.4kg
TREE Payload 35kg & Material MiEE#IAE Voltage-proof resin MEE#AE Voltage-proof resin
HFBE—XVK  Allowable moment 150Nm TEASEE Rated voltage DC30VIAT DC30Vorless DC30VILT DC30Vorless
Shel
EFEERIVZ. Allowabletorque 150Nm W JvJEI21—)U Hook module WOy IRXIRASSY Hook stand ASSY
S TE  Outer size 71mmXx71mm —_ I Toolside R BBH Toolstand side
E#EREd  Thickness when coupled 49.5mm Standard part number SMTU00-000 Standard part number HSAC-U01-00
i i 7. == =} i W ~
A{EHE  Main body material FILEZOLEE  Aluminum alloy EE weight 0.50kg TJ—“’*ﬁﬁtj‘j B Yes
o = - o ool detection sensor
IBHEIRAEE  Position repeatability +0.01Tmm
8 Material #]  Steel 1&HEEFE  Detection range 2£0.2mm
B{EZESTES) Operational air pressure 0.45~0.85MPa
NEEB ORw MMAl Robot side 0.46kg
Main body weight W—JUfl Tool side 0.27kg
Bft/Ng— o f 1S09409-1-50-4-M6 ST UG
spcosoicsiLmpage | DY M Robotside 1S09409-1-50-4-Mé counterbore hole

TvIEI1-I

Hook module

TYIRIVRASSY
Hook stand ASSY

XPNPHHRODBE
For PNP spec
XBHREY1—-ILERKEURETT
With a module attached

BEAITYvIRIVRASSYDEV IR RE L.

The sensor of the hook stand on the stand detects the ATC tool side hook module and confirms that
the hook module is on the hook stand

‘ ARZICHTZEE SHURERL(CHBEVVREL . ERFICU S [BUREHREE] £BHH<IEET W,

¥ANTOT DABIF2024F6BFIEDHD T REDWURDHFERLNTEZREI D ENBUFT,

¥ANTOT RSN BIBRIRIHETIEHIEE Ao

XANYOTHSDEMEEHZRIELET,

‘ ASafety precautions  To use the product safely, please read the instruction manual carefully before use.

Contents of this catalog are current as of June 2024. The contents are subject to change without notice for product improvement.
The gures indicated in this catalog are not guaranteed. All rights reserved.

ZwS e [\ —EFEER Nitta Moore Div.

A4t T556-0022 KAfRivRiER)114-4-26

Head office

RRXIE T104-0061 ERREBFRXIREES-2-1
HEEXIE T450-0003 BHEMPNXBERE-17-23
BREIEZERT T812-0011 BEMIBLXIELERA2-11-26

https://www.nitta.co.jp

TEL.03-6744-2725 FAX.03-6744-2707

TEL.052-589-1321
TEL.092-473-6651

FAX.052-566-2005
FAX.092-474-2658

4-4-26 Sakuragawa Naniwa-ku, Osaka 556-0022 JAPAN Phone:+81-6-6563-1271 Fax:+81-6-6563-1272

TEL.06-6563-1271 FAX.06-6563-1272 E-mail Address mecha_info@nitta.co.jp

230605008



	240522_三校_A4_OMEGA_type S35-S_omote
	240522_三校_A4_OMEGA_type S35-S_ura

